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Q.1     Multiple choice Question / oLrqfu"B iz’u       (2x5=10) 

1)   Due to overdamping, the instrument will become 
अतिवतृि के कारण, साधन बन जाएगा  

a. Slow/ धीर े

b. Lethargic / ससु्ि 

c. Fast / िेज 

d. Both (a) and (b) / A और B दोनों 
 

2)   A differential relay comparator used for the protection of three phase 

transformers has 
                िीन चरण ट्ाांसफार्मर के सांरक्षण के तिए उपयोग तकया गया एक अांिर ररिे ििुतनत्र ह ै

a. One comparator / एक ििुतनत्र 

b. Two comparator / दो ििुतनत्र 

c. Three comparator / िीन ििुतनत्र 

d. Six comparator / छह ििुतनत्र 

 

3)   In double delta transformation, a double delta refers to the case where 

there are two delta transformations in  

डबि डेल्टा पररविमन र्ें, एक डबि डेल्टा उस र्ार्िे को सांदतभमि करिा है जहााँ दो डेल्टा पररविमन होिे हैं 

a. Parallel/ सर्ानाांिर 

b. Series/ श्ृांखिा 

c. Both series and parallel/ श्ृांखिा और सर्ानाांिर दोनों 

d. Neither series nor parallel/ न िो श्ृांखिा और न ही सर्ानाांिर 

 

4)   Most familiar application of zig - zag transformer is as 
त़िग - ़ैिग ट्ाांसफार्मर का सबसे पररतचि अनपु्रयोग है  

a. Ground reference on an ungrounded system/ एक भूतर्गि प्रणािी पर ग्राउांड सांदभम 

b. Converting single phase to two phase/ एकि चरण को दो चरण र्ें पररवतिमि करना 



 

 

c. Reducing harmonics/ हारर्ोंस को कर् करना 

d. All of these/ ये सभी 

 

5)   In a single phase, full wave bridge circuit and in three phase, delta full 

wave bridge circuit, the ripple voltage frequency is always  

एक एकि चरण र्ें, पूणम िहर पिु सतकम ट और िीन चरण र्ें, डेल्टा पूणम िहर पिु सतकम ट, िहर वोल्टेज आवतृि हरे्शा 

होिी ह ै

a. Twice the line frequency, six times the line frequency/ दो बार िाइन फ्रीक्वेंसी, छह 

बार िाइन फ्रीक्वेंसी 

b. Both will be twice the line frequency/ दोनों िाइन फ्रीक्वेंसी से दोगनुी होगी 

c. Both will be six times the lines frequency/ दोनों िाइनों की आवतृि के छह गनुा होंग े

d. None of these/ इनर्ें से कोई नहीं 

              
Q. 2 (a) What is an autotransformer? Explain its working with advantages over 

two winding transformer. 
ऑटोट्ाांसफॉर्मर क्या है? दो घरु्ावदार ट्ाांसफार्मर पर फायद ेके साथ इसके कार् की व्याख्या करें। 

(b) Explain Energy Conservation Principle. / ऊजाम सांरक्षण तसिाांि की व्याख्या करें। 

 

Q. 3 (a) Draw a neat sketch of a D.C. Generator ? State the function of each part.  
डी सी जनरटेर का एक साफ स्केच बनाएां? प्रत्येक भाग के कायम को बिाएां। 

(b) Explain the Sumpner test of a single phase transformer with circuit 

diagram. 
  सतकम ट आरखे के साथ एकि चरण ट्ाांसफार्मर के Sumpner परीक्षण की व्याख्या करें। 
 

Q. 4 (a) Explain the following:  
     तनम्नतितखि की व्याख्या करें: 

(i) Scott Connection/ स्कॉट कनेक्शन 

(ii) Pulse Transformer/ पल्स ट्ाांसफार्मर 

(iii) Tap Changers/ चेंजसम पर टैप करें 

(b) Explain Y-Y operation of three phase transformer.  
िीन चरण के ट्ाांसफार्मर के वाई-वाई ऑपरशेन के बार ेर्ें बिाएां। 

 

Q. 5 (a) What are the conditions to put on two single phase transformer in parallel 

operation ? 
सर्ानाांिर सांचािन र्ें दो तसांगि फेज ट्ाांसफार्मर पर िगान ेकी क्या शिें हैं? 

(b) Derive the e.m.f. equation of  DC Generator डीसी जेनरटेर का emf सर्ीकरण बिाएां । 

 

Q. 6 (a) A 4- pole wave wound armature has 720 conductors and is rotated at 

1000 rev/min. If the useful flux is 20m Wb calculate the geberated voltage.  



 

 

एक 4- पोि वेव घाव आरे्चर र्ें 720 कां डक्टर होिे हैं और इस े1000 रवे / तर्नट र्ें घरु्ाया जािा है। यतद उपयोगी प्रवाह 

20m Wb ह,ै िो जाजेटेड वोल्टेज की गणना करें 

(b) What is armature reaction ? Describe the effects of armature reaction on 

operation of DC machine. 
आरे्चर प्रतितिया क्या ह?ै डीसी र्शीन के सांचािन पर आरे्चर प्रतितिया के प्रभावों का वणमन करें। 

 

Q. 7 (a)  Explain the process of commutation in DC machine.  
डीसी र्शीन र्ें कम्यूटेशन की प्रतिया बिाएां। 

(b) What are the losses that occurs in DC machines?  
डीसी र्शीनों र्ें होन ेवािे नकुसान क्या हैं? 

 

Q. 8 (a) Derive the condition for maximum efficiency of a DC Generator. .  
एक डीसी जनरटेर की अतधकिर् दक्षिा के तिए तस्थति को तनतरिय करें। 

(b) Name the various method of speed control of DC motors and describe 

any one of them. 
डीसी र्ोटसम की गति तनयांत्रण की तवतभन्न तवतध का नार् बिाएां और उनर्ें स ेतकसी एक का वणमन करें 

 

Q. 9 (a) Explain the working principle of a single phase transformer.  
एकि चरण ट्ाांसफार्मर के कायम तसिाांि की व्याख्या करें 

(b) Write the difference between core type and shell type transformer.  
कोर प्रकार और शेि प्रकार ट्ाांसफार्मर के बीच अांिर तिखें 
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Q.1 Multiple choice Question / oLrqfu"B iz’u        (2x5=10) 

(i)  The full range of audibility in audio frequency oscillator is - 
 ऑतडयो आवतृि थरथरानवािा र्ें श्व्यिा की पूरी श्ृांखिा ह ै- 

 (a) 0 to 20 Hz / 0 से 20 हटटमज 

 (b) 20 Hz to 2 kHz / 20 हटटमज से 2 तकिोहटटम़ि 

 (c) 20 Hz to 20 kHz / 20 हटटमज स े20 तकिोहटटम़ि 

 (d) 20 Hz to 20 MHz / 20 हटटमज से 20 रे्गाहटटमज 

   

(ii)    A liquid crystal display requires - 
 एक तितक्वड तिस्टि तडस््िे की आवश्यकिा होिी ह ै- 

 (a) An AC drive / एक एसी ड्राइव 

 (b) A DC drive / एक डीसी ड्राइव 

 (c) Both AC and DC drive / दोनों एसी और डीसी ड्राइव 

 (d) None of these / इनर्ें से कोई नहीं 

   

(iii)    Optical sensors used for the displacement measurement works on the principal that - 
 तवस्थापन र्ाप के तिए उपयोग तकए जान ेवािे ऑत्टकि सेंसर तप्रांतसपि पर कार् करिे हैं - 

 (a) Intensity of light increases with distance 
 दूरी के साथ प्रकाश की िीव्रिा बढ़ जािी ह ै

 (b) Intensity of light decreases with distance 
 दूरी के साथ प्रकाश की िीव्रिा कर् हो जािी है 

 (c) Intensity of light remains constant with distance 
 प्रकाश की िीव्रिा दूरी के साथ तस्थर रहिी ह ै

 (d) Intensity of light increases with time 
 सर्य के साथ प्रकाश की िीव्रिा बढ़िी जािी ह ै

  

 
 



 

 

(iv)    Capacitance sensor can measure very small displacement. It can be formed by 

 varying - 
 कैपेतसटेंस सेंसर बहुि छोटे तवस्थापन को र्ाप सकिा है। इसे अिग-अिग करके बनाया जा सकिा ह ै- 

 (a) Separation / पथृक्करण 

 (b) Area / के्षत्र 

 (c) Permittivity / परावैद्यिुाांक 

 (d) Either (a) or (b) or (c) / या िो (ए) या (बी) या (सी) 

   

(v)    The ionization gauge an instrument used for the measurement of - 
 आयनीकरण गेज र्ाप के तिए इस्िेर्ाि एक उपकरण ह ै- 

 (a) Very low pressure / बहुि कर् दबाव 

 (b) Medium pressure / र्ध्यर् दबाव 

 (c) High pressure / अतधक दबाव 

 (d) Very high pressure / बहुि उच्च दबाव 

   

Q.2 (a) Explain the method of measuring the dielectric loss with the help of Schering 

 Bridge. 

 Schering Bridge की र्दद से ढाांकिा हुआ नकुसान को र्ापने का िरीका बिाएां । 

 (b) Write a short note on Following:-  
 तनम्नतितखि पर एक सांतक्षप्त नोट तिखें: 

 (a) Maxwell Bridge  / रै्क्सवेि तिज 

 (b) Anderson Bridge / एांडरसन तिज 

  

Q.3 (a) Explain different types of errors in instruments.  
 यांत्रों र्ें तवतभन्न प्रकार की त्रतुटयों की व्याख्या कीतजए I 

 (b) Write a short note on Megger.  
 रे्गर पर एक छोटा नोट तिखें I 

 

Q.4 (a) Explain digital voltmeter with block diagram.  
 ब्िॉक आरेख के साथ तडतजटि वाल्टर्ीटर की व्याख्या करें I 

 (b) What are errors? Differentiate between accuracy and precision.  
 त्रतुटयााँ क्या हैं? सटीकिा और सटीकिा के बीच अांिर  कीतजए । 

 

Q.5 (a) What is digital voltmeter? Explain its working.  
 तडतजटि वाल्टर्ीटर क्या है? इसके कायम की व्याख्या  कीतजए I 

 (b) Differentiate between CT and PT.  
 सीटी और पीटी के बीच अांिर कीतजए I 

 

Q.6 (a) Define Following / तनम्नतितखि पररभातिि करें 

a. Sensitivity / सांवेदनशीििा  

b. Resolution / सांकल्प  

 (b) Explain the working of Dual beam Oscilloscope.  
 दोहरी बीर् ऑतसिोस्कोप की कायमप्रणािी को सर्झाइए I 

Q.7 (a) Write a short note on- / एक छोटा  नोट तिखें - 

  (i) 3 phase Wattmeter /  3 चरण वॉटर्ीटर पर  



 

 

 (b) Describe in brief Balastic Galvanometer.  

 सांके्षप र्ें  Balastic Galvanometer का वणमन करें I 

 

Q.8 (a) Classify different types of resistance.  
 तवतभन्न प्रकार के प्रतिरोधों को वगीकृि करें I 

 (b) Differentiate between digital storage and multi channel CRO.  
 तडतजटि स्टोरेज और र्ल्टी चैनि सीआरओ र्ें अांिर । 

 

Q.9 (a) Compare mili voltmeter with micro voltmeter.  
र्ाइिी वाल्टर्ीटर की ििुना र्ाइिो वोल्टर्ीटर से करें | 

  (b) State and explain various types of measuring instruments with examples.  
 उदाहरणों के साथ तवतभन्न प्रकार के र्ाप उपकरणों को बिाएां और सर्झाएां। 
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Note :  Student should not write anything on question paper. 
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Q.1 Multiple choice Question / oLrqfu"B iz’u        [2x5=10] 

 

(i) What is the major functioning role of VVR in the multistage AGC amplifier 

circuit during an increment in the signal level - 
तसग्नि स्िर र्ें वतृि के दौरान र्ल्टीस्टेज एजीसी एम्पिीफायर सतकम ट र्ें वीवीआर की प्रर्खु कायम भूतर्का 

क्या है - 

(a) Variation in control of input signal level / इनपटु तसग्नि स्िर के तनयांत्रण र्ें बदिाव 

(b) Variation in voltage gain of multistage amplifier / र्ल्टीस्टेज एम्पिीफायर के वोल्टेज 

िाभ र्ें तवतवधिा 

(c) Variation in current gain of multistage amplifier / र्ल्टीस्टेज एम्पिीफायर के विमर्ान 

िाभ र्ें तवतवधिा 

(d) Variation in control of output signal level / आउटपटु तसग्नि स्िर के तनयांत्रण र्ें बदिाव 

 

(ii)  The rectified & filtered signal taken at a high level point in AGC amplifier 

generates _______- 
एजीसी एम्पिीफायर र्ें उच्च स्िर के तबांद ुपर तिया गया सधुारा और त़िल्टर तकया गया सांकेि _______ 

उत्पन्न करिा है- 

(a) DC voltage proportional to the level of an output signal / डीसी वोल्टेज एक 

आउटपटु तसग्नि के स्िर के तिए आनपुातिक 

(b) DC voltage proportional to the level of an input signal / डीसी वोल्टेज एक इनपटु 

तसग्नि के स्िर के तिए आनपुातिक है 

(c) AC voltage proportional to the level of output signal / एसी वोल्टेज आउटपटु तसग्नि 

के स्िर के तिए आनपुातिक 

(d) AC voltage proportional to the level of an input signal / एसी वोल्टेज एक इनपटु 

तसग्नि के स्िर के तिए आनपुातिक है 

 

 

 



 

 

(iii)  How does the FET operate before the pinch-off region with small value of drain-

to-source voltage in accordance to the control of drain-to-source resistance by 

the bias voltage - 
एफएईटी कैसे बायस वोल्टेज द्वारा डे्रन-टू-सोसम प्रतिरोध के तनयांत्रण के अनसुार डे्रन-टू-सोसम वोल्टेज के छोटे 

रू्ल्य के साथ चटुकी बांद के्षत्र से पहिे सांचातिि करिा है - 

(a) As a Voltage Controlled Resistor / एक वोल्टेज तनयांतत्रि रोकनेवािा के रूप र्ें 

(b) As a Voltage Dependent Resistor / वोल्टेज तडपेंडेंट ररतसस्टर के रूप र्ें 

(c) As a Voltage-Variable Resistor / एक वोल्टेज-चर ररत़िस्टर के रूप र्ें 

(d) All of the above / ऊपर के सभी 

 

(iv)  How are the zener diodes placed internally in MOSFETs so as to provide 

defence from the hazardous consequences of stray voltages - 
आवारा वोल्टेज के खिरनाक पररणार्ों से बचाव प्रदान करने के तिए MOSFETs र्ें जेनर डायोड को 

आांिररक रूप से कैसे रखा जािा है - 

(a) Alternately / वैकतल्पक रूप से 

(b) Opposite to each other / एक-दूसर ेके तवपरीि 

(c) Back-to-back / एक के पीछे एक 

(d) All of the above / ऊपर के सभी 

 

(v)  FETs are widely applicable in oscilloscopes and voltmeters as an input amplifier 

as compared to bipolar transistors due to ______ - 
______ के कारण तद्वध्रवुी ट्ाांतजस्टर की ििुना र्ें इनपटु एम्पिीफायर के रूप र्ें FETs व्यापक रूप से 

ऑतसिोस्कोप और वोल्टर्ीटर र्ें िागू होिे हैं - 

(a) Ability of minimizing the loading effect with high input resistance / उच्च इनपटु 

प्रतिरोध के साथ िोतडांग प्रभाव को कर् करने की क्षर्िा 

(b) Ability of maximizing the loading effect with high input resistance / उच्च 

इनपटु प्रतिरोध के साथ िोतडांग प्रभाव को अतधकिर् करने की क्षर्िा 

(c) Ability of minimizing the loading effect with low input resistance / कर् इनपटु 

प्रतिरोध के साथ िोतडांग प्रभाव को कर् करने की क्षर्िा 

(d) Ability of maximizing the loading effect with low input resistance / कर् इनपटु 

प्रतिरोध के साथ िोतडांग प्रभाव को अतधकिर् करने की क्षर्िा 

 

Q.2 (a) Explain zener diode and its V-I characteristics in brief.  
जेनर डायोड और इसकी V-I तवशेििाओ ां को सांके्षप र्ें सर्झाइए । 

(b) Explain NPN transistor working in commom emitter configuration.  
कॉर्न एतर्टर कॉतऩ्िगरशेन र्ें कार् करने वािे एनपीएन ट्ाांतजस्टर की व्याख्या करें। 

 

Q.3 (a) Describe Push Pull Amplifier.  
पशु पिु एम्पिीफायर का वणमन करें l 

(b) What is depletion region in a PN Junction? How it is affected by forward and 

reverse biasing? 



 

 

पीएन जांक्शन र्ें कर्ी के्षत्र क्या है? यह आगे और ररवसम बायतसांग से कैसे प्रभातवि होिा है? 

 

Q.4  (a) Explain the working principle of UJT also write its applications.  
यूजेटी के कायम तसिाांि की व्याख्या करें इसके अनपु्रयोग भी तिखें l 

(b) Write applications of Transistor amplifiers. 
 ट्ाांतजस्टर एम्पिीफायरों के अनपु्रयोग तिखें l 

 

Q.5  (a) Name different types of biasing of transistor and explain any one of them 

with neat circuit diagram. 
ट्ाांतजस्टर के तवतभन्न प्रकार के पूवामग्रह का नार् और उनर्ें से तकसी एक को स्वच्छ सतकम ट आरखे के साथ 

सर्झाएां l 

(b) Write the condition for oscillation in an oscillator.  
एक थरथरानवािा र्ें दोिन के तिए तस्थति तितखए l  

 

Q.6 (a) Convert the decimal number 16.12 and 32.04 in binary numbers.  
दशर्िव सांख्या 16.12 और 32.04 को तद्वआधारी सांख्या र्ें पररवतिमि करें l 

(b) What is a bit, nibble and a byte?  
एक तबट, कुिरना और एक बाइट क्या है? 

 

Q.7 (a) Explain the working of Colpitts Oscillator with a suitable diagram.  
एक उपयकु्त आरखे के साथ Colpitts Oscillator के कायम की व्याख्या करें । 

(b) Explain the working of 555 timers.  
555 टाइर्र के कार् के बारे र्ें बिाएां । 

 

Q.8 (a) Find the results of following binary arithmetics: / तनम्नतितखि बाइनरी अांकगतणि के 

पररणार् प्राप्त करें:  

(i)  11000011                 (ii)  10000111 

           +10001111                                 -10000001 

        = _________                          = ________ 

 

(b) Differentiate between half wave rectifier and full wave rectifier.  
हाफ वेव रतेक्टफायर और फुि वेव रतेक्टफायर र्ें अांिर करें । 

 

Q.9 (a) Define following (i) RMS value (ii) Average value (iii) Ripple factor  

ifjHkkf"kr djsa ¼a,½ vkj,e,l ewY; ¼ch½ vkSlr ewY; ¼lh½ fjiy QSDVj  

 

 (b) Draw a three input AND Gate and its truth table  

,d rhu buiqV ,aM xsV dh lR;k rkfydk cuk,A 
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Q.1 Multiple choice Question / oLrqfu"B iz’u        [2x5=10] 

 

(i)    What is the load stress factor for cast iron gear pair if BHN = 300 - 
 अगर BHN = 300 हो िो कच्चा िोहा तगयर जोडी के तिए िोड िनाव कारक क्या ह ै-  

 (a) 1.89 N/mm2 / 1.89 एन / एर्एर् 2 

 (b) 1.62 N/mm2 / 1.62 एन / एर्एर् 2 

 (c) 1.44 N/mm2 / 1.44 एन / तर्र्ी 2 

 (d) 1.413 N/mm2 / 1.413 एन / एर्एर् 2 

 

(ii)    What is the function of a moderator -  
 र्ॉडरटेर का कायम क्या ह ै- 

 (a) Increases the speed of neutrons / न्यूट्ॉन की गति को बढ़ािा ह ै

 (b) Increases the speed of electrons / इिेक्ट्ॉनों की गति बढ़ािा ह ै

 (c) Reduces the speed of neutrons / न्यूट्ॉन की गति को कर् करिा ह ै

 (d) Reduces the speed of electrons / इिेक्ट्ॉनों की गति कर् कर दिेा ह ै

 

(iii)    One ton of refrigeration is equal to ______ - 
 प्रशीिन का एक टन ______ के बराबर है - 

 (a) 120 B Th U/hr   / 120 B Th U / hr 

 (b) 200 B Th U/hr   / 200 बी Th यू / घांटा 

 (c) 1200 B Th U/hr  / 1200 B Th U / hr 

 (d) 12000 B Th U/hr  / 12000 B Th U / hr 
 

(iv)    Which of the following protects penstock due to sudden variation of flow or velocity 

of water - 
 पानी के प्रवाह या वेग र्ें अचानक बदिाव के कारण पेनस्टॉक तनम्नतितखि र्ें से तकसकी रक्षा करिा ह ै- 

 (a) Anchors / िांगर     (b) Forebays / Forebays 

 (c) Trash rack / कचरा रकै    (d) Surge tank / सजम टैंक 

 



 

 

(v)    Pump transfers input mechanical energy of an engine, into _____ - 
 पांप _____ र्ें एक इांजन की इनपटु याांतत्रक ऊजाम  को स्थानाांिररि करिा है - 

 (a) pressure energy of a fluid / एक िरि पदाथम  की दबाव ऊजाम 

 (b) kinetic energy of a fluid / एक िरि पदाथम की गतिज ऊजाम 

 (c) both a. and b. / दोनों ए और बी 

 (d) none of the above / इनरे् से कोई भी नहीं 

 

Q.2 (a) Explain the term stress, strain and Hooke’s law. 
 LVªsl] LVªsu] gqd ds fu;e dh O;k[;k djsaA 

 (b) Write down composition and properties of cast iron. 
 dkLV vk;ju ds xq.k vkSj lajpuk fyf[k, 

 

Q.3 (a) Write down properties of mild steel. 
 gYds LVhy ds xq.k fyf[k,A 

 (b) Write down composition and properties of aluminum. 
 ,Y;wfefu;e ds xq.k o lajpuk fyf[k,  

 

Q.4 (a) Define any three mechanical properties of a material. 
 eVsfj;y ds fdUgh 3 ;kaf=d xq.kks dks fyf[k, 

 (b)Write down the procedure for conducting the tensile test of ms specimen on UTM 

machine. 
 ;qVh,e e’khu ij ,e,l uewuk dk r;Urk ijh{k.k djus dh çfØ;k fyf[k,A 

 

Q.5 (a) Explain the annealing process and their objectives. 
 ,uhfyax çfØ;k dh O;k[;k djsaA 

 (b) Explain heat and work in thermodynamics. 
 m"ekxfrdh esas dk;Z vkSj m"ek dks le>kb;sA 

 

Q.6 (a) Explain the working of Babcock and Wilcox boiler with neat sketch. 
 cSckWd vkSj foYdkl ck;yj dh dk;Zç.kkyh dks fp= }kjk le>kb,A 

 (b) Describe with neat sketch working principle of any type of air compressor. 
 fdlh Hkh çdkj ds ok;q laihMu ds LoPN js[kkfp= dk dk;Z lghr o.kZu djsaA 

 

Q.7 (a) Explain the different properties of fluids. 
 nzoksa ds fofHkUu xq.kks dh O;k[;k djsaA 

 (b) State and prove Pascal’s law. 
 ikLdy ds fu;e dks fy[ks o fl/n djssaA 

 

Q.8 (a) Describe the construction of U-tube manometers. 
 ;w V~;wc esuksfeVj dh lajpuk fyf[k,A 

 (b) Describe with neat sketch working principle of reciprocating air compressor. 
 jsflçksdsfVax ,;j dEçslu dk fp= lfgr o.kZu djksaA 

 

Q.9 (a) Explain the different head losses in a fluid flow in a pipe. 
 ,d ikbZi esa nzo ds çokg esa gksus okys fofHkUu gsM ysal dks le>kb,A 

(b) Give the classifications of gears. 
 fx;j dk oxhZdj.k dhft,A 

 


